Math 100 Quiz #5 Name:

1. What is the greatest common factor of 126 and 18? {26 i% GCF=2-3°3
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2. Reduce to lowest terms: mﬂq 7

3. What is the least common multiple of 22 and 14? Z\Z }‘j LeM=2-T1u=1% 4
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4. Find the least common denominator of the following fractions: %, % LCO= \5"!

5. Change the im%roper fraction to a mixed number in lowest terms: %
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6. Change the mixed number to an improper fraction in lowest terms: i ML}—
7. Simplify. Make sure your final answer is in lowest terms: %% — 2 135 = ,Cgﬁ = _25.
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8. Simplify. Make sure your final answer is in lowest terms: % + é‘ Lo = Ho
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9. Bonus: Macy's is advertising 1 off all fall clothing. Bloomingdale’s is advertising 1 off.
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» Which store is offering the bigger discount?.(Justify your answer.)
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